1)  A type of CD drive is adjusted properly and working correctly if a bias meter applied to the unit reads zero. Of course, it generally reads close to zero (but not equal to zero), as we see illustrated below in the distribution of bias readings (the bar in the middle represents the ideal value zero). 

You are looking for defective units. What values of the bias reading would indicate to you that you probably have a defective unit? Indicate them on the graph below, and explain your reasoning.
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2) A coin is tossed. The tosser proclaims that it's a fair coin. Circle the letter below (a-h) at which you might be inclined to accuse the tosser (at least in your mind, if not out loud) of lying about the coin’s fairness:


a. the first toss yields H?


b. the first two tosses yield an HH?


c. the first three tosses yield an HHH?


d. the first four tosses yield an HHHH?


e. the first five tosses yield an HHHHH?


f. the first six tosses yield an HHHHHH?


g. the first seven tosses yield an HHHHHHH?


h. the first eight tosses yield an  HHHHHHHH?

If you wouldn't have asserted that the coin isn't fair after the first eight tosses, how many tosses of Heads in a row would you need to see before you decide that the coin really isn't fair?

In any event, explain your reasoning.

